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• ke = âhe Ùee  pe eBÛe  k eâ j  ue W efke â F me  Øe Mve -he $e  ce W c e ge fõle  he =‰ 16 leL e e            
Øe Mve  18 nQ~ 
Please make sure that the printed pages in this 

question paper are 16 in number and it contains     

18 questions. 

• Øe Mve -he $e  ceW oe e fnve s ne L e k e âe r De e sj efoÙe s i e Ùe s k eâes[ vecy ej le L e e mesš  ke âe s Úe$e  
Gòe j -h e ge fml e ke âe  ke s â  ce gKÙe -he =‰ he j  e fue Ke W~ 
The Code No. and Set on the right side of the 
question paper should be written by the candidate 
on the front page of the answer-book. 

• ke = âhe Ùee  Øe Mve  ke âe  G òe j  e fue Ke ve e Me g™ k e âj ve s mes he nue s , Øe Mv e  ke âe  ›e â cee b ke â  De Je MÙ e 
e fue Ke W~ 
Before beginning to answer a question, its Serial 
Number must be written. 

SET : B 
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• Gòe j -h e ge fml e ke âe  ke s â  ye e rÛe  cesb  Ke e ue er h e Vee /he V e s ve  Úe sÌ [W~ 
Don’t leave blank page / pages in your answer-
book. 

• Gòej-hegefmlekeâe kesâ Deefleefjòeâ keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• he j er#e eL ee a De he vee  je sue  ve b 0 Øe Mv e -he $e  he j  De Je MÙe  e fue Ke W~ 
Candidates must write their Roll Number on the 
question paper. 

• ke = âhe Ùee  Øe Mve eW ke âe  Gòej  osves me s he tJe & Ùe n me ge fve e fMÛe l e  ke âj  ue W e fke â Øe Mve -he $e  he tCe& 
Je  me ne r nw , h ejer# ee ke s â Gh ejevle Fme mecy evOe ceW k eâesF& Yeer oe Jee mJe erkeâ ej 
veneR efk eâÙe e p eeÙe siee~ 

 Before answering the question, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination. 

mee ceevÙe  efveoxMe : 

 (i) me Ye er ØeMve  De efveJe eÙe& nQ~  

 (ii) F me Øe Mve-he $e  ceb s ke g âue  18 Øe Mve  nQ ,  pe e s Ûee j  Ke C[e W : De,  y e ,     
me le L e e o ce W e fJe Ye k eäle  nQ~  

 (iii) KeC [ –  De ke s â Ø e Mve  me b KÙe e  1 c e W y eejn (i-xii) Je mle ge fv e<"  Øek e â ej  
k e s â  Øe Mve  nQ~  Øe l Ùeske â Øe Mve  1 De b ke â k e âe  nw~  
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 (iv) KeC [ –  y e ce W Ø e Mve  me b KÙe e 2 me s 10 le ke â  De e fle ue Ie g Gòe j e lce ke â 
Ø e Mve  nQ~ Ø e lÙe ske â  Øe Mve  2 De b ke â  ke âe  nw~ 

 (v) KeC [ –  me ce W Øe Mv e  me b KÙe e  11 me s 15 le k e â  ue Ie g Gòe j elce ke â 
Ø e Mve  nQ~ Ø e lÙe ske â  Øe Mve   3 Deb ke â k e âe  nw~ 

 (vi) KeC [ –  o ce W Øe Mve  me b KÙ e e  16 mes 18  le keâ  oe rIe & Gòe jelce ke â 
Ø e Mve  nQ~ Ø e lÙe ske â  Øe Mve  5 De b ke â  ke âe  nw~ 

 (vii) Ø e Mve -h e $e  c e W me ce «e  ™ he  me s ke âe sF & e fJe ke â uhe  ve ne R nw~ le L e ee fhe  5 De b k e âeW 
J e e ue s me Ye er oe rI e & Gòe j e lce ke â  Øe Mv e eW ce W De eb le e fj ke â Ûe Ù e ve  Øe oe ve  e fke âÙee  
i e Ùee  nw~ S smes Ø e Mve e W ce W me s De e hek e â es ke sâJ e ue  S keâ  ne r Øe Mv e  ke âj ve e nw~ 

General Instructions :  

 (i) All questions are compulsory. 

 (ii) This question paper contains 18 questions, 

which are divided into four Sections : A, B, 

C  and D. 

 (iii) Section – A contains question number 1 

having twelve (i-xii) objective type questions and 

carry 1 mark each.  

 (iv) Section – B contains question numbers 2 to 

10 of very short answer type questions and 

carry 2 marks each. 
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 (v) Section – C contains question numbers 11 to 

15 of short answer type questions and carry 

3 marks each. 

 (vi) Section – D contains question numbers 16 to 

18 of long answer type questions and carry 

5 marks each. 

 (vii) There is no overall choice. However, internal 

choice is given in all long answer type 

questions carrying 5 marks each. You have 

to attempt only one of the given choice in 

such questions. 

KeC [ –  De  
SECTION –  A 

( Jem leg ef ve<" Ø eMve)  
(Objective Type Questions) 

   1. (i) Deceeryee efkeâme efJeefOe Éeje Øepeveve keâjlee nw  ? 1 

  (A) keâesefveef[Ùee   

  (B) efÉKeC[ve 

  (C) ÛeueyeerpeeCeg  

  (D) yewmeeref[Ùee 
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  Amoeba reproduces by which method ?  

  (A) Conidia   

  (B) Binary Fission   

  (C) Zoospores   

  (D) Basidia  

 (ii) peye heejmheefjkeâ ef›eâÙee ceW Skeâ peeefle keâes ueeYe neslee nw Deewj 

otmejer peeefle keâes neefve nesleer nw, lees Ssmeer heejmheefjkeâ ef›eâÙee keâes  

keânles nQ  :   1 

  (A) mheOee&  

  (B) meneshekeâeefjlee  

  (C) hejYe#eCe  

  (D) FveceW mes keâesF& veneR 
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  When one species is benefited and other 

species is harmed, then such an interaction 

is called :  

  (A) Competition    

  (B) Mutualism  

  (C) Predation  

  (D) None of these  

 (iii) yeÇeÙeesheâeFšdme keâer cegKÙe pevekeâerÙe keâeÙe nesleer nw  : 1 

  (A) DeiegefCele   

  (B) efÉiegefCele 

  (C) ef$eiegefCele 

  (D) FveceW mes keâesF& veneR 
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  In Bryophytes the main plant body is :  

  (A) Haploid  

  (B) Diploid  

  (C) Triploid  

  (D) None of these 

 (iv) Jen Øepeeefle pees Keeueer SJeb veive #es$e hej Dee›eâceCe keâjleer nw, Gme 

Øepeeefle keâes keânles nQ  :       1 

  (A) efÉleerÙekeâ Øepeeefle   

  (B) cetue DevJes<ekeâ Øepeeefle 

  (C) Ûejce mecegoeÙe  

  (D) FveceW mes keâesF& veneR 

  The species that invades a bare area is 

called :  

  (A) Secondary Species  

  (B) Pioneer Species  

  (C) Climax Community   

  (D) None of these  
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 (v) keâÚgS keâer peerJeve DeJeefOe  nesleer nw  :     1 

  (A) 60-70 Je<e& 

  (B) 90-100 Je<e&  

  (C) 100-150 Je<e& 

  (D) FveceW mes keâesF& veneR 

  The life span of Tortoise is :  

  (A) 60-70 years 

  (B) 90-100 years  

  (C) 100-150 years 

  (D) None of these 

 (vi) Øeespesmš̂e@ve ne@cees&ve keâe œeJeCe keâjlee nw  :   1 

  (A) }eref[ie keâesefMekeâeSB  

  (B) mešexueer keâesefMekeâeSB 

  (C) heerle efheb[  

  (D) efhešdÙetšjer «eefvLe 
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  Progesterone hormone is secreted by :  

  (A) Leydig cells  

  (B) Sertoli cells  

  (C) Corpus luteum  

  (D) Pituitary gland  

 (vii) efvecveefueefKele ceW mes keâewve-mee yeerpe SuyegefceefveÙeme nw  ? 1 

  (A) Ûevee   

  (B) DejC[ 

  (C) cetBieheâueer   

  (D) Ùes meYeer  

  Which of the following seed is albuminous ?  

  (A) Gram  

  (B) Castor  

  (C) Groundnut  

  (D) All of these  
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 (viii) Skeâ m$eerr ceW peye ØeejefcYekeâ YeütCe heefjJeOe&ve nsleg ef[bye Jeeefnveer mes 

ieYee&MeÙe ceW mLeeveebleefjle neslee nw Gme meceÙe YeütCe efkeâleves 

yueemšesefceÙej keâe yevee neslee nw  ?     1 

  (A) 8 yueemšesefceÙej lekeâ  

  (B) 4 yueemšesefceÙej lekeâ 

  (C) 2 yueemšesefceÙej lekeâ  

  (D) 8 mes DeefOekeâ yueemšesefceÙej  

  When in human female early embryo is 

transferred from fallopian tube into uterus, 

then it consists of how many cells ?  

  (A) Upto 8 blastomeres  

  (B) Upto 4 blastomeres 

  (C) Upto 2 blastomeres  

  (D) More than 8 blastomeres  
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 (ix) jpeesefveJe=efòe keâer heefjYee<ee efueefKeÙes~     1 

  Define Menopause.  

 (x) Petce Kesleer mes Deehekeâe keäÙee leelheÙe& nw ? mecePeeFÙes~  1 

  What do you mean by Jhum cultivation ? 

Explain. 

 (xi) heÙee&JejCe kesâ ØecegKe DepewJe keâejkeâeW kesâ veece efueefKeÙes~  1 

  Name major abiotic factors of environment.  

 (xii)  Øeot<eCe keâer heefjYee<ee efueefKeÙes~       1 

  Define Pollution.  

KeC[ – y e 

SECTION –  B 

( Deef leue I eg Gòe jelcekeâ Ø eMve) 

(Very Short Answer Type Questions) 

  2. DeueQefiekeâ Je ueQefiekeâ Øepeveve ceW Devlej efueefKeS~ 2 

 Distinguish between Asexual and Sexual 

reproduction.  
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  3. keâ=ef$ece JeerÙe& mesÛeve hej mebef#ehle efšhheCeer efueefKeS~ 2 

 Write a short note on Artificial Insemination.  

  4. KeeÅe Üe=bKeuee ceW ‘Meekeâenejer peerJe keâes keâvewefkeäšbie efuebkeâ (peesÌ[ves Jeeueer 
Üe=bKeuee) keânles nwb’, keäÙeeW ? 2 

 In a food chain the "herbivores are called 

connecting link", why ?  

  5. Deefleoesnve mes Deehekeâe keäÙee leelheÙe& nw ? 2 

 What do you mean by over exploitation ?  

  6. ce®mLeueerÙe heewOes Deheves Ûeejesb Deesj kesâ iece& Je Meg<keâ JeeleeJejCe mes 
Devegketâueve kewâmes keâjles nwb ? 2 

 How desert plants are adapted to xeric 

conditions ?  

  7. efkeâmeer Yeer heeefjlev$e keâe Tpee& keâe efhejwefce[ ncesMee meerOee (KeÌ[er)  

DeJemLee ceW neslee nw, keäÙeeW ? 2 

 Pyramid of energy in an ecosystem is always 

upright, why ?  
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  8. peuee›eâebefle SJeb ce=oe ueJeCelee hej mebef#ehle efšhheCeer efueefKeS~ 2 

 Write a brief note on water logging and soil 

salinity.  

  9. heeefjefmLeeflekeâerÙe efJeefJeOelee hej mebef#ehle efšhheCeer efueefKeS~ 2 

 Write a brief note on Ecological Diversity.   

10. ‘«eerve neGme ØeYeeJe’ kesâ yeejs ceW meb#eshe ceW efueefKeS~ 2 

 Write a brief note on 'Green House Effect'.   

KeC [ – me  

SECTION –  C 

( ueI eg G òejelcekeâ ØeMve) 

(Short Answer Type Questions) 

11. peerefJele ØeeefCeÙeeW ceW Øepeveve ef›eâÙee keäÙeeW DeeJeMÙekeâ nw ? 3 

 Why is reproduction essential for living 

organisms ?   

12. mleveOeejer kesâ DeC[eCeg keâer efve<esÛeve ef›eâÙee kesâ oewjeve keâewve-keâewve-mes 

jemeeÙeefvekeâ yeoueeJe Deeles nQ ? 3 

 Which chemical changes occur during the 

fertilization of mammalian egg ?    
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13. nceW pewJe efJeefJeOelee keâes keäÙeeW mebjef#ele keâjvee ÛeeefnS ? 3 

 Why we should conserve Biodiversity ?  

14. KeeÅe Üeb=Keuee keâe mebef#ehle JeCe&ve keâerefpeS~ 3 

 Write a short note on Food chain.   

15. Glheeokeâlee kesâ yeejs ceW Deehe keäÙee peeveles nQ ? meb#eshe ceW efueefKeS~ 3 

 Write in short, what do you know about the 

Productivity ?  

KeC[ – o 

SECTION –  D 

( oer I e& G òejelcek eâ Ø eMve) 

(Long Answer Type Questions) 

16. m$eerr peveve leb$e kesâ DeejsKeerÙe keâeš o=MÙe keâe efÛe$e yeveeFÙes Deewj Gmekesâ 

ØelÙeskeâ Yeeie keâe veece efueefKeS~ 5 

 Draw a well labelled diagram of sectional view of 

Female Reproductive System.  
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D eLeJ ee 

OR 

 heewOeeW ceW efÉefve<esÛeve ef›eâÙee keâe JeCe&ve keâerefpeS Deewj Gmekesâ cenòJe 

efueefKeÙes~ 

 Describe the process of Double Fertilization and 

its significance in plants.  

17. pewJe efJeefJeOelee keâer #eefle kesâ efJeefYeVe keâejCeeW keâe JeCe&ve keâerefpeS~ 5  

 Describe various causes of Biodiversity Losses.  

D eLeJ ee 

OR 

 heeefjlev$e ceW keâeye&ve Ûe›eâ keâe JeCe&ve keâerefpeS~ 

 Describe the carbon cycle in an Ecosystem.  
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18. DeheIešve hej efšhheCeer efueefKeS~ 5 

 Write a note on Decomposition.  

D eLeJ ee 

OR 

 mheOee& kesâ yeejs ceW efJemleej mes efueefKeS~  

 Write a detailed note on competition.   

ssss    

 


